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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 7 printed pages.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 24 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

ECONOMICS
vFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=k

Time allowed : 3 hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

Note :
(i) All questions in both the sections are compulsory.

(ii) Marks for questions are indicated against each.

(iii) Question Nos. 1 and 13 are very short-answer questions carrying 1 mark for each
part. They are required to be answered in one sentence each.

(iv) Question Nos. 2-5 and 14-17 are short-answer questions carrying 3 marks each.
Answer to them should not normally exceed 60 words each.

(v) Question Nos. 6-9 and 18-21 are also short-answer questions carrying 4 marks
each. Answer to them should not normally exceed 70 words each.

(vi) Question Nos. 10-12 and 22-24 are long-answer questions carrying 6 marks each.
Answer to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits be adhered
to as far as possible.

(viii) All parts of a question should be answered at one place.

uksVuksVuksVuksVuksV :

(i) nksuksa [k.Mksa ds lHkh iz'u vfuok;Z gSaA

(ii) izR;sd iz'u ds fu/kkZfjr vad mlds lkeus fn, x, gSaA

(iii) iz'u la[;k 1 rFkk 13 vfr y?kwÙkjkRed iz'u gSa ftudk izR;sd Hkkx 1 vad dk gSA budk mÙkj

dsoy ,d okD; esa gh fn;k tkuk gSA
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(iv) iz'u la[;k 2-5 vkSj 14-17 y?kwÙkjkRed iz'u gSa ftuesa izR;sd ds 3 vad gSaA izR;sd dk mÙkj

lkekU;r% 60 'kCnksa ls vf/kd ugha gksuk pkfg,A

(v) iz'u la[;k 6-9 vkSj 18-21 Hkh y?kwÙkjkRed iz'u gSa ftuesa izR;sd ds 4 vad gSaA izR;sd dk mÙkj

lkekU;r% 70 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 10-12vkSj 22-24 O;k[;kRed mÙkj okys iz'u gSa ftuesa izR;sd ds 6 vad gSaA izR;sd

dk mÙkj lkekU;r% 100 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) mÙkj laf{kIr rFkk rF;kRed gksus pkfg, rFkk ;FkklaHko Åij nh xbZ lhek ds varxZr gh fn,

tk,¡A

(viii) izR;sd iz'u ds lHkh Hkkxksa dk mÙkj ,d gh LFkku ij fn;k tkuk pkfg,A

SECTION  A

[k.M v[k.M v[k.M v[k.M v[k.M v

1. Answer the following questions : 1×4

(i) Define production function.

(ii) What is meant by producer's equilibrium ?

(iii) What causes an upward movement along a supply curve ?

(iv) Under which market form, is a firm a price-taker ?

fuEufyf[kr iz'uksa ds mÙkj nhft, %

(i) mRiknu Qyu dh ifjHkk"kk nhft,A

(ii) mRiknd ds larqyu dk D;k vFkZ gS \

(iii) ,d iwfrZ oØ ij Åij dh vksj pyuk fdl dkj.k ls gksrk gS \

(iv) fdl izdkj ds cktkj esa ,d QeZ dher&Lohdkjd gksrh gS \

2. Explain the law of demand with the help of a demand schedule. 3

,d ek¡x vuqlwph ¼rkfydk½ dh lgk;rk ls ek¡x ds fu;e dh O;k[;k dhft,A

3. Give three causes of an increase in the supply of a commodity. 3

,d oLrq dh iwfrZ esa o`f) ds rhu dkj.k crkb,A

4. What is the relationship between marginal revenue and average revenue ? 3

lhekUr laizkfIr ¼vkxe½ vkSj vkSlr laizkfIr ¼vkxe½ ds chp D;k lEcU/k gksrk gS \

5. State the main features of monopoly market. 3

,dkf/kdkjh cktkj dh eq[; fo'ks"krk,¡ crkb,A
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6. Complete the following table : 4

Output Total Cost Average Variable Cost Marginal Cost
(units) (Rs.) (Rs.) (Rs.)

0 80 — —

1 180 — —

2 270 — —

3 350 — —

4 440 — —

fuEufyf[kr rkfydk dks iwjk dhft, %

mRiknu dqy ykxr vkSlr ifjorhZ ykxr lhekUr ykxr

¼bdkb;k¡½ ¼#-½ ¼#-½ ¼#-½

0 80 — —

1 180 — —

2 270 — —

3 350 — —

4 440 — —

7. At a price of Rs. 50 per unit, the quantity demanded of a commodity is 1000 units. When
its price falls by 10 percent, its quantity demanded rises to 1080 units. Calculate its price
elasticity of demand. Is its demand inelastic ? Give reasons for your answer. 4

50 #- izfr bdkbZ dher ij] ,d oLrq dh ek¡x dh xbZ ek=kk 1000 bdkbZ gSA tc bldh dher

10 izfr'kr de gks tkrh gS] rks bldh ek¡x dh xbZ ek=kk c<+dj 1080 bdkbZ gks tkrh gSA bldh

ek¡x dh dher yksp dk ifjdyu dhft,A D;k bldh ek¡x csykspnkj gS \ vius mÙkj ds fy,

dkj.k nhft,A

8. Define price elasticity of supply. How is it measured by geometric method ? (In case of a
straight line supply curve) 4

iwfrZ dh dher yksp dh ifjHkk"kk nhft,A T;kferh; fof/k }kjk bldk ekiu dSls fd;k tkrk gS \

¼iwfrZ oØ ds ,d lh/kh js[kk gksus dh fLFkfr esa½

9. Explain the problem of 'how to produce' with the help of an example. 4

OR

Explain the problem of 'what to produce' with the help of a production possibility curve.

^dSls mRiknu djsa* dh leL;k ,d mnkgj.k dh lgk;rk ls le>kb,A

vFkokvFkokvFkokvFkokvFkok

^D;k mRiknu djsa* dh leL;k ,d mRiknu laHkkouk oØ dh lgk;rk ls le>kb,A
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10. How does a consumer reach equilibrium position when he is buying only one commodity ?
Explain with the help of marginal utility schedule. 6

OR

Briefly explain any three factors that shift the demand curve to the right.

dsoy ,d gh oLrq [kjhnus dh fLFkfr esa ,d miHkksDrk larqyu dh fLFkfr ij dSls igq¡prk gS \ lhekUr

mi;ksfxrk vuqlwph ¼rkfydk½ dh lgk;rk ls le>kb,A

vFkokvFkokvFkokvFkokvFkok

ek¡x oØ dh nk;ha vksj f[kldus okys fdUgha rhu dkjdksa dh la{ksi esa O;k[;k dhft,A

11. Distinguish between returns to a factor and returns to scale. Explain the reasons for
increasing returns to a factor. 6

,d dkjd ¼lk/ku½ ds izfrQy vkSj iSekus ds izfrQy esa Hksn dhft,A ,d dkjd ¼lk/ku½ ds c<+rs

izfrQy ds dkj.kksa dh O;k[;k dhft,A

12. How does an increase in supply of a commodity affect its equilibrium price and
equilibrium quantity ? Explain with the help of a diagram. 6

,d oLrq dh iwfrZ esa o`f) mldh larqyu dher vkSj larqyu ek=kk dks dSls izHkkfor djrh gS \

,d js[kkfp=k dh lgk;rk ls le>kb,A

SECTION  B

[k.M c[k.M c[k.M c[k.M c[k.M c

13. Answer the following questions : 1×4

(i) What is micro-economics ?

(ii) Give two examples of a macro-economic studies.

(iii) Why are borrowings treated as capital receipts ?

(iv) What is meant by balance of payments account ?

fuEufyf[kr iz'uksa ds mÙkj nhft, %

(i) O;f"V vFkZ'kkL=k dh ifjHkk"kk nhft,A

(ii) lef"V vkfFkZd v/;;uksa ds nks mnkgj.k nhft,A

(iii) _.kksa dks iw¡thxr izkfIr D;ksa ekuk tkrk gS \

(iv) Hkqxrku larqyu [kkrs dk D;k vFkZ gS \

14. Explain the meaning of equilibrium level of national income, with the help of a diagram. 3

jk"Vªh; vk; ds larqyu Lrj dk vFkZ ,d js[kkfp=k dh lgk;rk ls le>kb,A
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15. From the following data about a firm 'A', calculate net value added at market price by
it : 3

(Rs.
in thousands)

(i) Sales 700
(ii) Change in stock 40
(iii) Depreciation 80
(iv) Net indirect taxes 100
(v) Purchase of machinery 250
(vi) Purchase of intermediate products 400

,d QeZ 'A' ds ckjs esa fn, x, fuEufyf[kr vk¡dM+ksa ls mlds }kjk fd, x, cktkj ewY; ij fuoy

ofèkZr ewY; ¼ewY; o`f)½ dk ifjdyu dhft, %

¼#-

gtkjksa esa½

(i) fcØh 700

(ii) LVkWd esa ifjorZu 40

(iii) ewY;Ðkl 80

(iv) fuoy ¼'kq)½ vizR;{k dj 100

(v) e'khuksa dk Ø; 250

(vi) e/;orhZ mRiknksa dk Ø; 400

16. What is the basis of classifying government expenditure into revenue expenditure and
capital expenditure ? Give an example of each. 3

ljdkjh O;; dks jktLo O;; vkSj iw¡thxr O;; esa oxhZÑr djus dk D;k vk/kkj gS \ izR;sd dk ,d

mnkgj.k nhft,A

17. Complete the following table : 3

Income Consumption Expenditure Marginal Propensity Marginal
(Rs.) (Rs.) to Consume Propensity to Save

1000 900 — —

1200 1060 — —

1400 1210 — —

1600 1350 — —

fuEufyf[kr rkfydk dks iwjk dhft, %

vk; miHkksx O;; lhekUr miHkksx lhekUr cpr

¼#-½ ¼#-½ izo`fÙk izo`fÙk

1000 900 — —

1200 1060 — —

1400 1210 — —

1600 1350 — —
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18. State any three main functions of a central bank. Describe any one of them. 4

dsUnzh; cSad ds dksbZ rhu eq[; dk;Z crkb,A buesa ls fdlh ,d dk o.kZu dhft,A

19. Explain the meaning and implications of fiscal deficit. 4

jktdks"kh; ?kkVs dk vFkZ vkSj blls mRié gksus okys leL;kvksa dh O;k[;k dhft,A

20. List four items each of current account and capital account of the balance of payments

account. 4

                    OR

Mention four sources each of demand and supply of foreign exchange.

Hkqxrku larqyu [kkrs ds pkyw [kkrs vkSj iw¡th [kkrs dh pkj&pkj ensa crkb,A

vFkokvFkokvFkokvFkokvFkok

fons'kh eqnzk dh ek¡x vkSj iwfrZ ds pkj&pkj lzksrksa dk mYys[k dhft,A

21. Briefly explain any four main functions of a commercial bank. 4

okf.kT; ¼O;kolkf;d½ cSad ds fdUgha pkj eq[; dk;ks± dh la{ksi esa O;k[;k dhft,A

22. Explain briefly the distinction between : 6

(a) Gross domestic product at factor cost and Net national product at market price.

(b) National income and Net national disposable income.

fuEufyf[kr ds chp la{ksi esa varj le>kb, %

¼v½ dkjd ¼lk/ku½ ykxr ij ldy ns'kh; ¼?kjsyw½ mRikn vkSj cktkj ewY; ij fuoy jk"Vªh;

mRikn

¼c½ jk"Vªh; vk; vkSj fuoy jk"Vªh; iz;ksT; vk;

23. Explain with the help of a numerical example how an increase in investment in an

economy affects its level of income. 6

OR

Why should planned savings and planned investment be equal at equilibrium level of
income ? Explain with the help of a diagram.

,d vFkZO;oLFkk esa fuos'k esa o`f) mlds vk; ds Lrj dks dSls izHkkfor djrh gS \ ,d la[;kRed

mnkgj.k dh lgk;rk ls le>kb,A

vFkokvFkokvFkokvFkokvFkok

vk; ds larqyu Lrj ij fu;ksftr cpr vkSj fu;ksftr fuos'k cjkcj D;ksa gksus pkfg,¡ \ ,d js[kkfp=k

dh lgk;rk ls le>kb,A
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24. From the following data, calculate
(a) National income, and
(b) Personal disposable income 3, 3

(Rs.
in crores)

(i) Compensation of employees 1200
(ii) Rent 400
(iii) Profit 800
(iv) Consumption of fixed capital 300
(v) Mixed income of self-employed 1000
(vi) Private income 3600
(vii) Net factor income from abroad (—) 50
(viii) Net retained earnings of private enterprises 200
(ix) Interest 250
(x) Net indirect taxes 350
(xi) Net exports (—) 60
(xii) Direct taxes paid by households 150
(xiii) Corporation tax 100

fuEufyf[kr vk¡dM+ksa ls

¼v½ jk"Vªh; vk;] vkSj

¼c½ oS;fäd iz;ksT; vk;

dk ifjdyu dhft,A

¼#-

djksM+ksa esa½

(i) deZpkfj;ksa dk ikfjJfed 1200

(ii) fdjk;k 400

(iii) ykHk 800

(iv) LFkk;h ¼vpy½ iw¡th dk vo{k; ¼miHkksx½ 300

(v) Lofu;ksftrksa dh fefJr vk; 1000

(vi) futh vk; 3600

(vii) fons'kksa ls fuoy ¼'kq)½ dkjd ¼lk/ku½ vk; (—) 50

(viii) futh m|eksa dh fuoy izfr/kkfjr ¼vforfjr½ vk; 200

(ix) C;kt 250

(x) fuoy ¼'kq)½ vizR;{k dj 350

(xi) fuoy ¼'kq)½ fu;kZr (—) 60

(xii) ifjokjksa }kjk fn, x, izR;{k dj 150

(xiii) fuxe dj 100


